km 0+744.00

km 0+700.00

0.21 m2
W-wyr = 0.452 m2

N=

0.396 m2
W-wyr =0.372 m2

N =

0SS
8C°¢81) ¢1'z87 00'S
mmumwﬁ 11281 0s'e
sTc8ligozer| G€€
4
12°¢81|0128T[ 000
2128t ste
¢0'¢8T 05e
¢C'¢8tT ¥0'28T 09’8
N2 . -
26'281 €T'¢8T| S9'8
ST-6
.| &
¢ X
O
E b 2
g 2| 3
[a) [a) |
AN
o a4 (@]
G¢'S
GGzeT |0V'28T| SL'V
¢S'¢8T|Ty'e8T | SC'€
Zv'Z8T | GE'¢C8T| 0T'E
81287 | TV’ ¢8T[ o0
6€°C8T|VCC8T| 0T'¢
67281 |82'28T| SC€
¢S'C8T|82'28T| SL'¥
S2'S
.| &
¢ X
3 2 .
O
E b 2
4| 2| 3
o [a) |
ur [T —
N N [a)
o a4 (@]

km 0+768.00

krata

km 0+707.00

N =0.25m2

2%

-0

2%

-0

3%

-0

koniec zatoki

W-wyr = 0.630 m2

Gy'¢81

N =0.305 m2
W-wyr = 0.504 m2

YRS
§T'zg7|907C8T | SCS
ARAYS SLE
20'¢8T| 96'18T[ 09
60°¢8T | €6'T8T 000
00'28T|26'T8T| 09°E
0T'28T o
€T°28T 86'T8T| GZ'S

G/°S
: o
¢ <
(@]
£ & 2
£ 2 )
2 8 4
| B 8
0£'S
08'%
8v'28T/SEZ8T
svzer|LezeT 0E€
Ge'Z8T|8228T[ STE
7€'T8T|cze8T| STE
Zv'zey 9228t 08
62'28T| 08'%
0£'S
: s}
-9
3 2 _
O
E b 2
£ < )
[a)] [a) L
ur [T -
N N [a)
(4 & o

krata

km 0+780.00

km 0+719.00

G2'9
80'Z8T| L6181 ¢, g
G0'z8T|06°'T8T| SC'¥
o S6'T8T|88'T8T[ 57+,
®
N
o
_ €0°28T |1678T| 000
S
N
< S6'T8T|eg' 18T 0TV
G0'Z8T|08'18T| ST¥
ﬁ 80°Z8T|¥8'18T| GL'S
S9
: 5}
¢ | <
e W w
O =z FEY

¥ g T b 2

n o L w w

0 = 5 @

v F w3

=z = o o ©]

GE'S
| T7'z81|92°28T| S8'1
w 8e'Z8T|€2°28T| SE'€
ol 82281 6128 ozg
|
|
|
i
|
N
|
|
|
”,
il v£'Z8T/92°28T 000
|
|
|
|
|
|
R
O
,,

2 | Gz'281 |¥1'28T| oz'e
Gezer|ST¢8T| Se'¢
8E'C8T | y1zoT| S8V

Ge'S
<
s | 4
I§] =
N < <
o $ 4 fi
S 5/ ¢ | o
a3 S| & 0w | @
™ o w w w

Y < =4 =z o

S s g B 5

o

v £ ¥ ¥ 8

z =

10

rys.




